normalized X2

107}

1072

107

[ normalized x? probability |

0.02

chiz chiz_prob
Entries| 1557 0.16 Entries 1557
Mean 1.247 Mean 0.4193
Std Dev 0.7953 Std Dev 0331
. . . 0.14F--s---Fr-mmmmm i i R
chiz Shiz_pro
Entries 1557 Entries 1557
Mean 1.247 0.12 - | mean 04103
Std Dev 0.7953 Std Dev 0331
0.2~ - chiz_prob
1557 Entries, 1557
1.247 : _ | Mean 0.4193
7953 0.08 . - Std Dev 0.331
. . M I
0.06 L -
1.248 : :
SRES 0.04 h <
v

h.'mm Yt v, Brita et

Py

Prob(x?)

= ll
095 09%70.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
XZ
A 21 - -
5 3 : :
Soagfenees PR A e
3 : :
=< L : :
v 16__ """""" :" ""E"' LR R R
F | 14 |l B | 1
1 4'__ m=m== DQM_V0001_R000000001__Global__mkFitOriginal__RECO
“FL77 | s DQM_V0001_R000000001__Global__mkFitNewDett_ RECO
[ | === DQM_V0001_R000000001__Global__mkFitNewDett33__RECO
1.2F- | === DQM_V0001_R000000001__Global__mkFitNewDetNoF__RECO
SN 1 EU TV L TR
0.8+ -t e Beeee
0.6:— ......................................
o 1wy j
T 1
g i
i |
09532 0 1 2 3
n
A A E
E 2 18fF-
% < 1.6F-
\ v o
1.4~
1.2F
-
0.8F-
0.6F
0.4F
0.2F
2 o O
I I
@ @
0.5
} L ok~
107 1 102 10 1072

-1
AR(track, jelts)



	Contents
	Page 1


